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BI0.3.1.02.022 Identify examples of chemical reactions that support main functions of living organisms where reactants and products
rearrange to form ATP, ADP and inorganic phosphate
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B10.3.1,02.022 Identify examples o chemical reactionsthat support main functions of iving organisms where reactants and products
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B10.3.1,02.0211dentify exampls of chemic reactions catayzed by enzymes that occur inving ystems describing theirimportance in ving

organism and explaining why an enzyme deficiency results n the inabilty to perform a spcifcfunction infe

Figure No. 15
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B10.3.1.02.018 Distinguish between homogeneous mixtures 9solutions) and heterogeneous mixtures Figure No. 21,22
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BI0.3,1,02,018 Distinguish between homogeneous mixtures Ssolutions) and heterogeneous mixtures Figure No. 21,22
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B10.3.1.02.019 Construct and revise an explanation based on evidence for how carbon ,hydrogen,and oxygen from sugar molecules may
combine with other elements to from amino acids and/or other large carbon -based molecules

Figure No. 25
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combine with other elements to from amino acids and/or other large carbon -based molecules
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BI0.3.1,02.024 Explan that the hydrocarbon backbones of the sugars formed during photosynthesis are used to make amino acids and other
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In the figure below, the letter(A) indicates:
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B10.3.1.02.024 Explain that the hydrocarbon backbones of the sugars formed during photosynthesis are used to make amino acids and other
carbon-based molecules that can be assembled into larger molecules used, for example, to form new cells

Figure No.31
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B10.3,1.02.024 Explain that the hydrocarbon backbones of the sugars formed during photosynthesis are used to make amino acids and other
carbon-based molecules that can be assembled into larger molecules used, for example, to form new cells

Figure No.31
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